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@® x> +3x-18=0 [-6] @ 3x2-x-10=0 [-2]

® 2x +8x+3=0 [3] @ 2x2-2x-4=0 [-1]

® 22 +8x—-100=0 [8]
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@ y=-x>+3x

@ y=x(x-3)+1

@ y=2x+2

®y

1—x2



AAx =45 Fo2 L FH (L, 1), (-1, —-15)E %
SFZ~ 0] A1 09
a1 fa RS

D y=x>4+6x-6 @ y=x>+8x-8

@ y=-x>+6x-4 @ y=-x>+6x-8

® y=-x>+8x-6
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® 9t 1

@ 9t} 4



1ZPAA 42 4 ax+4 =0 9]
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@® 3-+5
@ -3+ 5

@ -3-15
® -3-15
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@ y=12x>-6x+9

-2x? 4+ 12x - 18

®y=

@ y=x>-3x+1

2x? + 12x - 18

®y

—2x2 —x—18

®y=



11. o5 54 oA ol 42?

@ 2(x+4)2 = (x-1)2+ (x+ 1)2
@ x?-3x=2x2+17x

® (x-2)2+1=x?

@ (x-4)(x+3)=x-5

B 5x2 =4x—1



DO x=0E=x=3

0EEx=2
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o 23 Zo] |H7L
15m ¢l ek AAg 1
Foz HJolA BETS THE
# I gt @ o] yolzt
25m? uff, x o] kS 5

D 2x2-25x+15=0
@ 25x2-6x+6=0

3 2x2-25x-15=0

K---—--------

TN

T~-15m--"~

@ 2x*-15x-25=0

@ 2x2-15x4+25=0
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